Triangles Numeracy Homework Spring Wee12
To be handed in 4.4.2011
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	Departure

Times

	11:15 am

	11:45 am

	2:15 pm

	2:45 pm

	3:15 pm

	3:45 pm

	4:15 pm

	[image: image3.wmf]4:45 pm

	
	Fares

	Single
	£7.00

	Day Return
	£10.00

	Open Return
	£12.00


· How much would it cost for 2 adults to purchase Single / Day Return / Open Return tickets?

    [Extend to different family sizes]

· What is the earliest departure time?

· I have £10.  I buy a Single ticket.  How much change do I get?                       [Extend to other scenarios]

· I know that a Day Return is £10.  What else do I know?

· The difference between each departure time is the same?  Do you agree?  Explain your answer.

· If I arrive at the Miniature Railway at ten to three in the afternoon, what’s the time of the next train that I can catch?

· It costs more money for an Open Return than a Day Return.  Why do you think this is?

· Convince me that it costs £35.00 for 2 adults and 3 children to take a Day Return.

· Family A pay £36.00 to travel on the Miniature Railway.  What type of ticket do they buy?  How many people could be in the family?  Find all possibilities.

· I have £50 to spend.  What possible tickets could I buy?

· Show me the time of the first train on this (analogue) clock.

· What is the time of the last train?  How many minutes before 1800 will this train depart?

· How many trains run between 1230 and 1540?

· How much does it cost for Mrs Mills to travel (there and back) if she buys two Single tickets?  Would she save any money if she had bought an Open Return?  If so, how much?

· What is the cheapest way for a family (of 2 adults and 3 children) to travel on the railway there and back again?

· If the ticket office collected £107 in fares, what tickets might have been sold?  Find three possible scenarios.

[Extend to: What is the largest number of people who can have return travel for a total cost of £107?]

· If the cost of running the train is £50 per (round) trip, what is the least number of people needed to travel on the train for it to “break even”?

· On average three children travel on the train to every two adults.  If 36 children travel, how many adults will have travelled?

· If the mean number of passengers each month is 263, how many passengers travelled in March and April together? 

Jan: 287

Feb: 319

May: 208

Jun: 401 

Jul: 321

Aug: 476 

Sep: 145 

Oct: 65 

Nov: 140 
Dec: 568
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Children (U16) travel half price
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